ALGEBRA TEST - 2° ESO

Exercise 1. (1 point) Indicate the coefficient, the literal part and the degree of the following
monomials:

a) —7a‘blc c) —2

:| -
h) = xuz d) v~
J 1 )2

Exercise 2: (2.25 points) Given the polynomials:
P(x)=Tx'-3x"+2x-5
O(x)==3x"—7x +5x -9
R(x)=4x" —x

Work out the value of the following operations:
ajpP+Q=
bjp-a=
c)20-3R=
djP-R=

Exercise 3: (1.5 points) Expand these expressions using quadratic multiplication formulas:
a) (x—6) =
b) (3x+5) =
c) Gx—T¥5x+T)=

d) (Exjj_.:?‘u4 —xﬁ'l:}lJ =

Exercise 4: (1.25 points) Work out the numerical value of the following polynomials:
a) P(x)=x" —2x* +8x-1 when x=3
b) O(a.b)=5ab+2a—3b—b" when a=2 b=-1

Exercise 5: (1.25 points) Simplify:
a) X' +12x+36=
b) v' +64-16y" =
c) 25a4""B" —40a’bc’ +166" =
d) 932" 4+ 542w —81wf =
e] 45v° —81=

[

Exercise 6: (1.25 points) Take all the common factors out of the brackets:
a) 30a’'b’c’ —6ab’c’ +12a'b'c” =
b) ¥zt + 222 + 18P =

43 113 i 4 6
c) —ldvwz +28vwz —42vwx =

Exercise 7: (0.5 points) Simplify the trinomial 27a’b +90a’b’ + 75ab’
Hint: First, take all the common factors out of the brackets
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